


H = 0l & AFSE H Ml A
2243 20ll& LBSIH ASEE AN A
SN MBS AIRIA
I ML
Rl QOIAAT HAN AR (19 =2l)
SA - B CORI(SH) - HISAY - BaS 01l b e HID 2t
ASt= S AN A 33,820,854 12,897,748 20,923,106
= 24,474,000
& 4,424,250
o 4,922,604
a2l 754,340 1,314,800 A560,460
& 140,000
o 614,340
AAuaT FAL FR2E 28,000 60,000 A32,000
SAF 2 AIZEH S22 28,000 60,000 A32,000
201 Let24EH| 5,000 0 5,000
02 22| 5,000 0 5,000
OXt&s A&l 5,000,000& * 14! 5,000
401 AIEHIZ20Hb] 20,000 60,000 240,000
01 A&l 20,000 60,000 40,000
O4Tt=T At BAMRKES
20,000,000 *14] 20,000
405 KHHE SH| 3,000 3,000
01 XML =ZF S| 3,000 3,000
AStEETAMEA SEHIE WAl
3,000,000 *14] 3,000
Otsat=E2te| 293,600 241,560 52,040
& 140,000
i 153,600
OIS S22 93,600 91,560 2,040
101 2124 8| 9,000 5,600 3,400
M IIRHMZ22ASEs 9,000 5,600 3,400
OUIES4ArE & ARRETAIA A0 A
]l 100,000 *30I1 A *3Z 7| 9,000
201 B2 Y| 17,800 17,800
02 222t 17,800 17,800
Q&= =HIM =2
25,0003 *350 2 *43] 3,500
OFx ZIM ==
135,000 #2501 A *43] 13,500
OM+R P57 SXE%
800,000 * 14 800
202 04dl 1,000 1,000
01 =i 8] 1,000 1,000
=T AE =ZE A 0]
20,0002 #2501 A %23 1,000
401 AIEHIL 20| 65,800 67,160 1,360
01 AlEHI 65,800 67,160 1,360
O21E =TAlE ASAE EHE &9
90,000 *3001 2 *43] 10,800
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AlSt=S AN A
ALz B
Otsd==ael EEREED)
SA - B CORI(SH) - HISAY - BaS 01l b e HID 2t
QAT =ZAIE EH SA
15,000,000 * 10 2 15,000
OARR +EAIE RX24
40,000,000 14! 40,000
AL =ZAEMNS(HEAY) (SHI) 200,000 150,000 50,000
& 140,000
i 60,000
401 AIEHIL 20| 200,000 150,000 50,000
& 140,000
= 60,000
01 Al&HI 200,000 150,000 50,000
OAAR =T AIE AL (22AXF)
200,000,000 * 14 200,000
= 140,000
i 60,000
HesasEae] 432,740 1,013,240 A580,500
ATE SRINLAIL (HEBAIY) 300,000 500,000 A200,000
401 AIEHIZ S| 300,000 500,000 200,000
01 AlEHI 300,000 500,000 A200,000
OLTR2EEAIE EXISAHE2RE] ARE
=CAIE)) 300,000,000 * 14 300,000
H=2SSAE A (XA 3,740 3,240 500
101 21248l 1,500 1,500
M IIRIMZ2Z2ASEs 1,500 1,500
QU==3sAIE F=HEH| 2FY
187,500 #4 Il 2 +23| 1,500
201 etz AL| 2,240 1,740 500
01 At 22| 2,000 1,500 500
OU==3AIE =8 AI&Z FH|
2,000,000& * 14 2,000
2 S==2%| 240 240 0
OY==3sA4 NA&aAI| M=
5,000& %404 A% 124 & 240
=22 =& At 129,000 510,000 A381,000
401 AIEHIZL 208] 129,000 510,000 381,000
01 Al&Hl 129,000 510,000 381,000
O==c =22 SHEZAt
16,000,000 *14] 16,000
O=T7sd & - =22 0SB A
113,000,000 * 14! 113,000
ZI0E 5,000 5,000 0
ot=2tel 5,000 5,000 0
oS A XISt==2tel 5,000 5,000 0
401 AIEBHIZ 20| 5,000 5,000 0
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SN ABHEEARIA
Za: B4
el Xoke=2el EEREED
RN B - SRA(SIH) - AIRAR - BAS 0f v e HDE
01 Al2H] 5,000 5,000 0
OXIot==2&Xl HS A
2,500,000 290 2 5,000
EZIIEANE 2Y 28,758,250 6,435,000 22,323,250
= 24,474,000
= 4,284,250
ot=2t 2te| 9,557,000 1,238,000 8,319,000
= 8,187,000
= 1,370,000
Sh=2t1 FHI(e ) (=1) 5,782,000 339,000 5,443,000
= 4,762,000
S 1,020,000
401 AlZHIZL 2 0HYI 5,782,000 339,000 5,443,000
= 4,762,000
= 1,020,000
01 Al£H] 5,69%,700 339,000 5,357,700
OLIPHMel 7S Sh=2t2 FHIAY
5,696,700,0002 14 5,6%,700
= 4,691,400
= 1,005,300
02 Zeltl 85,300 0 85,300
OeIRXel S ol=2Z ZHIAIY Zaldl
85,300,000& *14] 85,300
= 70,600
= 14,700
Sh=2t01 ZHI(ZE)(21) 3,775,000 224,000 3,551,000
= 3,425,000
= 350,000
401 AlZBIZ S CHBI 3,775,000 224,000 3,551,000
= 3,425,000
[ 350,000
01 Al&HI 3,519,000 224,000 3,205,000
OZBHMel7S St=2Z FHISA
3,519,000,000& 14 3,519,000
= 3,174,750
& 344,250
02 Ze/d 256,000 0 256,000
OH & xS ot=22 HISAL Zalt]
256,000,000 *14] 256,000
= 250,250
= 5,750
SO EDSot==dH| 3,348,000 286,000 3,062,000
= 3,048,000
= 300,000
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2N

Aot AN A
B #AIZAE 2
chel: sHEOISot =S E | EEREED
SA - B CORI(SH) - HISAY - BaS 01l b e HID 2t
sHE0ISol=Ed8H(ME)(21) 3,348,000 143,000 3,205,000
= 3,048,000
T 300,000
401 Al HIZL20HY] 3,348,000 143,000 3,205,000
= 3,048,000
& 300,000
01 A&l 3,080, 160 143,000 2,937,160
ONZ SOHE0IST4E HHIAY
3,080, 160,000 * 14! 3,080, 160
= 2,812,320
& 267,840
02 el 267,840 0 267,840
OME =s0{=0t2ot=S JHIAY Zeld]
267,840,000 x14] 267,840
= 235,680
& 32,160
SteHelHES 15,853,250 4,911,000 10,942,250
= 13,239,000
< 2,614,250
Stdel HEE(YEs4)(=21) 6,949,850 2,180,000 4,769,850
= 5,814,000
& 1,135,850
401 AIEHIZL 20| 6,949,850 2,180,000 4,769,850
= 5,814,000
& 1,135,850
01 Al&HI 6,949,850 2,180,000 4,769,850
OLs BZotHelAME SEA
6,949,850,000& *14] 6,949,850
= 5,814,000
& 1,135,850
St=XelEEE(2FEE)(=1) 6,920,400 1,017,000 5,903,400
= 5,792,000
= 1,128,400
401 Al HIZL 2] 6,920,400 1,017,000 5,908,400
= 5,792,000
& 1,128,400
01 Al&HI 6,471,440 1,017,000 5,454,440
0017 BEoHMElIAE SEAY
6,471,440,000& 14 6,471,440
= 5,445,480
& 1,025,960
02 22yl 448,960 0 448,960
Ol S3at=HelAld SEAMY 22l
448,960,000 * 14 448,960
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SN AMBIEEARIA
I #AIZAE 2Y
Helr ol=XelEE S EEREED
SA - B CORI(SH) - HISAY - BaS 01l b e HID 2t
= 346,520
& 102,440
Stexel&EE(otxis4)(=21) 1,983,000 1,714,000 269,000
= 1,633,000
& 350,000
401 AIEBIZL 2L 1,983,000 1,714,000 269,000
= 1,633,000
< 350,000
01 Al&dl 1,728,080 1,714,000 14,050
OOStEN S3ot==HMElAlE SEAL
1,728,050,000& * 14 1,728,050
= 1,423,100
= 304,950
02 2yl 254,950 0 254,950
OOJtELN S3dt-XelAlE S4ArE 22l
254,950,000& * 14 254,950
= 209,900
= 45,050
ot 22| 1,032,440 1,458,260 A425,820
ot=& 229 2| 1,032,440 1,458,260 A425,820
ot 2 bt 29,200 35,380 26,180
201 Let2AH| 28,200 34,380 26,180
01 AFR2t2ldl 9,000 13,880 A4,880
OUSEILE NMIIHMBA ==
2,000,000&*13] 2,000
Oot=E R A 2e Xt x|
7,000,000 =1CH 7,000
02 32| 19,200 20,500 1,300
ONBEIE S FIIe3
1,500,000& * 12& 18,000
Odt=E R Al 2| Xt |2l
1,200,000 *13] 1,200
202 Ot 1,000 1,000
01 =LHGBI 1,000 1,000
Qdt=E Al THEES g2l
100,000 *2H +53] 1,000
ot==& AH| JIE2AH= 300,000 900,000 600,000
401 Al HIZL20HH] 300,000 900,000 600,000
01 AlEHI 300,000 900,000 600,000
Odt== &l JI2H 8 (HE) 89
300,000,000 *14] 300,000
LKA 703,240 522,880 180,360
401 AIEHIZ2OHY] 703,240 522,880 180,360
01 Al&HI 700,000 520,000 180,000
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SN MBIEEARIA
ZH: ol 2tel
chelr ot 2% 2l (EEREED)
SA - B CORI(SH) - HISAY - BaS 01l b e HID 2t
Ot ==&l HHIAI
100,000,000 14! 100,000
QIR e 22N S A
50,000,000 *14 50,000
OSezsd LA o= JHIALL
250,000,000 14 250,000
OYAZ Y2l (MBXE) L o2 Y
AL 300,000,000 * 14 300,000
03 AlE 20HYI 3,240 2,880 360
OA&20b| 450,000,000& +0.72% 3,240
HHY AL (Aot TAIE L) 60,656 55,668 4,983
Jl=3l 60,656 55,668 4,988
J|=2ZH| 60,656 55,668 4,988
201 23| 45,656 46,368 AT12
01 At 22| 45,656 41,368 4,288
oYLt 2YH|(BH HY) 45,656
Oget=2H| 16,610,000 14! 16,610
O2g9+2(L=2H|)
14,550,000 14 14,550
O=gt| 9,696,000 *14] 9,6%
Ogxtz 400,000 x1CH* 123 4,800
202 0441 15,000 9,300 5,700
01 =LHO4 8] 15,000 9,300 5,700
OYRFL 0l 15,000,000 *14] 15,000
HRES (X)) (Aot AIEA) 3,210,168 3,629,020 N418,852
LIS HHKIE (A5t AIE A) 3,210,168 3,629,020 A418,852
LHEHHX B (Aot=E A A) 3,210,168 3,629,020 A418,852
701 JIEtSHSHEEZ 3,210,168 3,629,020 N418,852
01 JIEtSI AN EZ 3,210,168 3,629,020 A418,852
Oot=Z Al EE3H 8E3
2,910, 168,000 x 14 2,910,168
Oa=TAIY B3I S35 d&E3
300,000,000 *14] 300,000
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